





—Z - .b(uz . (—zquwgi?))

E:_’_: :ya. ulz’idnjj:" @

ﬂ
—h L ._‘: 'I-IJL‘PS A‘r
< = -2aw GEg 4 -2Q @
—3
_fau5ing§' %

-

l.z =_:;:)*%9»?- yaw g’

13U 5l

s A 6 2!
030),, A ,,,..4,.,,,@,?1'64')'-
w‘-w,-f»o o ¥ .Z @ A, -

M -viP L
({_/lﬂ=+GJJ

".-\ k_ sy—r Lp‘u-),uv a'b -;i e »

L,_,\ r'.""‘“"J

J’l\
)
N\

. -‘Ir-ng.:. 4‘aﬁffd

o —

: M d“y)l"(l
:él..‘.'Jw/fu-»i
EF=AS (el
P’-t;?ar I-n;b
"N - 1 - BV
-Psiad- y,-..ll-‘
/g 7 @/ f"-‘t] fkf ”o @/




‘L

. OOQ-(U-,(I&""L— i - | Y

e \h o
8 '/
’5?"’"‘*/"“[':_‘”5 =9 b-aﬂ & Q‘Bﬂ“}-‘- a9 — | J :léj)j

- 0= x-:a‘%'iﬁ"(") +C 5C=2

1’ S % = %‘%

1= . O\ "
~ *h’-f‘a"-‘”ﬂﬂ@u | gt T/_]@/
AL@AL&UJ\W @)/w yw Edld_e/ |

4 N ?,.nnd__ m\;‘l..-
vy - \vh 258 (sind + &) é@_

N = me) SInd zm;%ﬂint} &N d

s [Mamged) @ [Wee =[5 |

M

e ——

’\!L%:"j . Sae ol ':/L_:_,('.?_r
(9-.:.!'3 S FOARE G (7 o b_;aLai“fa,_g"J' E
, o "o dae e J

—> \/cr:,.‘!..&cng @/ N Y iy —_— ;
e et R il e -

*l"c’ VAo = L‘I?.T/il P ‘n.la.)(e sL;;YL-i.
' ‘; - I\ e i ‘
L Sl s 0G| (_,_,E(‘_ ‘-H-'-' i

Q‘I) N - ?S—m@- mjf_ :

V 'f.-: VL
- = gese

memﬁﬁfw%Jﬂdhdén »
. V"U:ig &

—

= Jc M
V dv e 1
T— =9 L ’

VdV = gitwwde

o adabll},

|



v NG

-é:ﬁ-z s DM C—"J -_,. I"J -

@ o=m*g,_..-51’,.._=° . S.E',.:gl;-
fhla'-' n"ﬁJ ...:,'tf‘jﬂ}, )

o U By Solaze auo**c{)i‘ g

\f&_'z\L‘,‘: Vr_

X af,d! -
QL@Y\L_IJ.LS,.»»", o e 3¢
vz o2\ Zees 7
v |
| : OO0 9
pe = Vg + Mo
- %'%€+\é5t+é.
m=o 1 y=A B R
(¢ olwV
xz2Vst
= Sl
P -'-)LA.J\ ;J_,\,‘_A_

ye < s
0
—alaf- %&L‘f’i Q/

n Tl
472 > 2= dman

> K2y = Mg L

b(z,z.)l @



Gelod) « A V' (04)
\JI(O.Q =5
RO =04.C g (of)- asT

& ()= -";,m\llb) € (1)= 91.9= 09

@)= _4 (8 20y -

ey

~4%. 0,
- w(z)':“"d’
> 50)= “’(z)-ﬁ.(“) A 26 (o) q
EM)=-04-994 4 =,
> MK=A ~.5~En\$.\\asw\r‘¢-:~
$GnE & Thbe s

%(’0:03 \3;':"]'\

Ol m

Ec = .ﬂz’mvl"-: 4m (Fx44) {
)6 @)
%:mgﬂ J 4- @'A"’ ﬁ""-’i@

=/
A @/

Eyy{00=1 f
Q.(oaf):'"'r '

EF\(A)-_:.' Ec.@-) =99

1

U(?):Moﬁ , R=asind

WCF): mgéﬂ%a{ @
0w _~

W(N)= o
w(f)= -§x

G i, B LV
%mv.‘: %m\é}-: @57;74&' 'ﬁéL

e 2+

lv"-.: 4:(_.4- f)&.-’r%z-]
sg A -3
I i M
2l :—)‘-':""""u"c":“: ;“:J[:"Jb

Ao (4-F)- g

L/

= g e g
V2 150k o fac

A-4 =0y _..3,[?:0,2,\!1._/
?&Hm\}-’DU:J‘ | J
R(ad=14 €,(a¢)
(1 (,LCL-...,J

-. ';;_.Jg.\gu\ _&Q;\'_éi 55

) -E5(99= w(P)

EW16() -Efog) = w({)
Cu5)~ 26 (og

0

460 = B)-E.0) £, ()




